BID RFQ#	136580	Auction	319-25 Track Equipment	Auction	ACTIVE	
		Title		Status		

*CONFIDENTIAL

Ln #	Award (Y/N)	Reason	Item Description	Quantity	иом	*CONFIDENTIAL Supplier	Price	Extended Price
	1 Y		Gill Metal Batons, assorted colors 11 length, or approved equal	72	EA	PYRAMID SCHOOL PRODUCTS	2.39	172.08
			1			*ASB SPORTS ACQUISITION INC		
			1			RIDDELL ALL AMERICAN	4.83	347.76
			1			VARSITY BRANDS HOLDINGS CO INC	4.88	351.36
]			MFAC LLC	5.00	360.00
			1			AMERICA TEAM SPORTS	5.95	428.40
	2 Y		Gill Discus Carrier #931, or approved equal	4	EA	PYRAMID SCHOOL PRODUCTS	8.38	33.52
			1			*ASB SPORTS ACQUISITION INC		
			1			VARSITY BRANDS HOLDINGS CO INC	22.32	89.28
						AMERICA TEAM SPORTS	28.50	114.00
						MFAC LLC	30.00	120.00
	3 Y		Gill 2-Shot Carrier #929, or approved equal	4	EA	*ASB SPORTS ACQUISITION INC		
						VARSITY BRANDS HOLDINGS CO INC	23.52	94.08
						MFAC LLC	31.00	124.00
			1			AMERICA TEAM SPORTS	31.50	126.00
	4 Y		Gill Essential Discus - 1kg, or approved equal	3	EA	MFAC LLC	59.00	177.00
						*ASB SPORTS ACQUISITION INC		
						AMERICA TEAM SPORTS	92.50	277.50
	5 Y	+	Gill Pyramid ¼ Spikes (100 bag) #842, or approved equal	20	BG	VARSITY BRANDS HOLDINGS CO INC	11.77	235.40
	-	-	-			*ASB SPORTS ACQUISITION INC		
	-					RIDDELL ALL AMERICAN	12.50	250.00
	-	-				MFAC LLC	16.00	
	_							
	c v		Cill Florkin Forum Connection #520		F 4	AMERICA TEAM SPORTS	16.50	
	6 Y		Gill Elastic Foam Crossbar #528, or approved equal	5	EA	RIDDELL ALL AMERICAN	26.25	131.25
						VARSITY BRANDS HOLDINGS CO INC	26.41	132.05
						*ASB SPORTS ACQUISITION INC		
			1			MFAC LLC	35.00	175.00
			1			AMERICA TEAM SPORTS	36.00	180.00
	7 Y		Gill Starting Blocks #412 with aluminum pedals attached	ed 9	EA	*ASB SPORTS ACQUISITION INC		
		_	to chrome steel rails, no subs			RIDDELL ALL AMERICAN	143.75	1,293.75
						MFAC LLC	151.00	-
	-		-			AMERICA TEAM SPORTS	200.00	-
	8 Y	+	Gill Indoor Starting Blocks #417, or approved equal	8	EA	VARSITY BRANDS HOLDINGS CO INC	41.98	-
						RIDDELL ALL AMERICAN	43.75	350.00
		-					45.75	330.00
						*ASB SPORTS ACQUISITION INC		
						MFAC LLC	53.00	
						AMERICA TEAM SPORTS	60.00	480.00
	9 Y		Gill Pacer One Vaulting Pole #540050 13', weight to be sent when order is placed, or approved equal	2	EA	* ASB SPORTS ACQUISITION INC		
						VARSITY BRANDS HOLDINGS CO INC	489.98	979.96
						AMERICA TEAM SPORTS	550.00	1,100.00
						MFAC LLC	777.00	1,554.00
1	0 Y		Gill Scholastic High Jump Standards #58801-01 (AAE), or	1	PR	*ASB SPORTS ACQUISITION INC		
			approved eqal			MFAC LLC	1 125 00	1 125 00
							1,125.00	
						VARSITY BRANDS HOLDINGS CO INC	1,299.98	1,299.98

					AMERICA TEAM SPORTS	1,500.00	1,500.00
11	Y	Gill Fiberglass 200' Tape Measure with high tensile	4	EA	*ASB SPORTS ACQUISITION INC		
		strength, no subs			VARSITY BRANDS HOLDINGS CO INC	38.84	155.36
		 			MFAC LLC	45.00	180.00
				AMERICA TEAM SPORTS	46.50	186.00	
12	Υ	Gill Essential Pole Bag #800801, or approved equal	2 EA	EA	VARSITY BRANDS HOLDINGS CO INC	129.91	259.82
					*ASB SPORTS ACQUISITION INC		
		 			MFAC LLC	135.00	270.00
					AMERICA TEAM SPORTS	165.00	330.00
13	Υ	Gill Horizontal Distance Indicator #730721 16'-30', or	1	1 EA	*ASB SPORTS ACQUISITION INC		
		approved equal					
					VARSITY BRANDS HOLDINGS CO INC	585.84	585.84
					MFAC LLC	605.00	
14	Υ	Cill Arahad Jump Day #TA402 no subs	1	EA	*ASB SPORTS ACQUISITION INC	735.00	735.00
14	, T	Gill Arched Jump Box #TA193, no subs	1	EA	VARSITY BRANDS HOLDINGS CO INC	799.98	799.98
					MFAC LLC	860.00	860.00
		 			AMERICA TEAM SPORTS	1,000.00	
15	Υ	Gill Fiberglass Tape Measure, open reel, with high tensil	2	EA	*ASB SPORTS ACQUISITION INC	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		strength, #GL-XT-Tapeo06, or approved equal					
		 			AMERICA TEAM SPORTS	46.50	93.00
16	Υ	Gill Pacer Orange Discus 2K, or approved equal	1	EA	*ASB SPORTS ACQUISITION INC		
					MFAC LLC	74.00	74.00
					AMERICA TEAM SPORTS	195.00	195.00
18	Y	4.0kg First Place Polanik Stainless Steel Shot #6035-4.0-	1	1 EA	MFAC LLC	122.00	122.00
		108., or approved equal			VARSITY BRANDS HOLDINGS CO INC	174.98	174.98
		<u> </u>			*ASB SPORTS ACQUISITION INC	174.50	174.30
19	Υ	First Place Pole Vaul Cross Bar #5882-01, 14'10", or	3	3 EA	VARSITY BRANDS HOLDINGS CO INC	88.98	266.94
		approved equal					
				*ASB SPORTS ACQUISITION INC			
					MFAC LLC	346.00	1,038.00
20	Y	First Place High Jump Cross Bar #588-02, 13'1", or approved equal	3 EA	VARSITY BRANDS HOLDINGS CO INC	88.98	266.94	
		approved equal			*ASB SPORTS ACQUISITION INC		
					MFAC LLC	343.00	1,029.00
21	Y	12 lb. First Place Stainless Steel Shot 103mm #6034-12-	3	EA	MFAC LLC	147.00	441.00
		103, or approved equal			*ASB SPORTS ACQUISITION INC		
		 			VARSITY BRANDS HOLDINGS CO INC	179.91	539.73
22	Υ	2024-2025 National Federation Track Rulebook	42	EA	AMERICA TEAM SPORTS	15.00	
					MFAC LLC	25.00	1,050.00
23	Υ	First Place Soft Training Hurdle #6603-01, or approved	12 EA	EA	VARSITY BRANDS HOLDINGS CO INC	168.98	2,027.76
		equal			*ASB SPORTS ACQUISITION INC		
		<u></u>			MFAC LLC	215.00	2,580.00
24	Υ	First Place Sprint Sled #7901-01F, or approved equal	2	EA	MFAC LLC	248.00	496.00
				VARSITY BRANDS HOLDINGS CO INC	259.98	519.96	
25					*ASB SPORTS ACQUISITION INC	50.00	404.00
25	Y	First Place Super Soft Indoor Shot Put 4.0 #6029, or approved equal	2	EA	VARSITY BRANDS HOLDINGS CO INC	50.98	101.96
					*ASB SPORTS ACQUISITION INC		
					MFAC LLC	132.00	264.00
26	Υ	First Place Indoor Discus #6023-1.0, 1kg, or approved equal	2	EA	VARSITY BRANDS HOLDINGS CO INC	2.98	5.96

Г					*ASB SPORTS ACQUISITION INC			
ŀ		<u> </u>			MFAC LLC	28.00	56.00	
27	Υ	Resistance Trainer #3622-01, or approved equal	5	EA	VARSITY BRANDS HOLDINGS CO INC	24.98	124.90	
				PYRAMID SCHOOL PRODUCTS	28.98	144.90		
					MFAC LLC	53.00	265.00	
28	Y	Resistance Trainer #3622-02, or approved equal	4	EA	PYRAMID SCHOOL PRODUCTS	19.89	79.56	
20		Dullat Balk Barter as Barte #2024 02 with autor balk as			MFAC LLC	53.00	212.00	
29	Y	Bullet Belt Partner Pack #3621-03 with extra belt, or approved equal	2	EA	VARSITY BRANDS HOLDINGS CO INC	20.32	40.64	
İ					MFAC LLC	109.00	218.00	
30	Y	Blazer Elite High School Hurdles #1134, silver, school name on board, no subs need to match existing hurdles	10	EA	*ASB SPORTS ACQUISITION INC			
ľ					MFAC LLC	219.00	2,190.00	
31	Y	Robic Stopwatch #SC-505W, black, 12 lap memory, event/lap/split timing, water resistant, or approved equal	17	EA	*ASB SPORTS ACQUISITION INC			
Ì					PYRAMID SCHOOL PRODUCTS	20.95	356.15	
					VARSITY BRANDS HOLDINGS CO INC	23.48	399.16	
					AMERICA TEAM SPORTS	23.50	399.50	
					MFAC LLC	26.00	442.00	
32	Y	Winchester .32 Cal Starting Blanks no subs	18	ВХ	AMERICA TEAM SPORTS	99.00	1,782.00	
2.1					MFAC LLC	100.00	1,800.00	
34	Y	Economy Closed Fiberglass Tape 165' Tape Measures #7011-165, or approved equal	12	EA	VARSITY BRANDS HOLDINGS CO INC *ASB SPORTS ACQUISITION INC	10.96	131.52	
ŀ		<u> </u>			PYRAMID SCHOOL PRODUCTS	12.95	155.40	
ŀ		_			MFAC LLC	26.00	312.00	
35	Υ	Y Gill Stretch Out Strap #TA1781, or approved equal	9	EA	*ASB SPORTS ACQUISITION INC			
					RIDDELL ALL AMERICAN	8.50	76.50	
					VARSITY BRANDS HOLDINGS CO INC	9.34	84.06	
					AMERICA TEAM SPORTS	11.50	103.50	
26	Y	Shot Dut Only Coving #C022 01 or annual or all		F 4	MFAC LLC	20.00	180.00	
36	'	Shot Put Only Carrier #6082-01, or approved equal	3	5 EA	EA	VARSITY BRANDS HOLDINGS CO INC	8.08	40.40
				MFAC LLC	20.00	100.00		
-					*ASB SPORTS ACQUISITION INC	20.00	100.00	
37	Y	CEI Ultrak 495 Stopwatch, black - #7411, or approved	4	EA	*ASB SPORTS ACQUISITION INC			
- [equal						
					PYRAMID SCHOOL PRODUCTS	35.95	143.80	
					AMERICA TEAM SPORTS	38.25	153.00	
					VARSITY BRANDS HOLDINGS CO INC	39.98	159.92	
					MFAC LLC	42.00	168.00	
38	Y	Newton International Starting Blocks #6630-01, no subs	1	EA	RIDDELL ALL AMERICAN MFAC LLC	57.50 465.00	1,860.00	
36	'	Newton international starting blocks #0030-01, no subs	7		WI AC LLC	403.00	1,800.00	
40	Y	Track Hip Numbers #1 - 9 (250 each) #7036-250 or approved equal	4	ST	MFAC LLC	101.00	404.00	
4.4	Y	Track Hip Numbers #40, 49 /35 or -t- #1 #7027 25 .		СТ	*ASB SPORTS ACQUISITION INC	25.00	150.00	
41	Y	Track Hip Numbers #10 - 18 (25 each #) #7037-25 or approved equal	6	ST	MFAC LLC	25.00	150.00	
					*ASB SPORTS ACQUISITION INC			
42	Y	Track Hip Numbers #19 - 30 (25 each #) #7038-25 or approved equal		ST	MFAC LLC	29.00	174.00	
43	Y	Gill #1 Individual Hip Numbers (250 roll) #92201	2	RL	*ASB SPORTS ACQUISITION INC			

					AMERICA TEAM SPORTS	17.05	34.10
ŀ		—			MFAC LLC	24.00	48.00
44	Y	Gill #2 Individual Hip Numbers (250 roll) #92202 or approved equal	2	RL	*ASB SPORTS ACQUISITION INC		
ŀ					AMERICA TEAM SPORTS	17.05	34.1
ı					MFAC LLC	24.00	48.0
45	Y	Gill #3 Individual Hip Number (250 roll) #92203 or	2	RL	*ASB SPORTS ACQUISITION INC		
		approved equal			AMERICA TEAM SPORTS	17.05	34.1
-					MFAC LLC	24.00	48.0
46	Y	Gill #4 Individual Hip Number (250 roll) #92204 or	2	RL	*ASB SPORTS ACQUISITION INC		
		approved equal					
-					AMERICA TEAM SPORTS	17.05 24.00	34.1
47	Y	Gill #5 Individual Hip Numbers (250 roll) #92205 or	2	RL	*ASB SPORTS ACQUISITION INC	24.00	48.0
4/	'	approved equal	2	INL	ASB SFORTS ACQUISITION INC		
Ī					AMERICA TEAM SPORTS	17.05	34.1
					MFAC LLC	24.00	48.0
48	Y	Gill #6 Individual Hip Numbers (250 roll) #92206 or approved equal	2	RL	*ASB SPORTS ACQUISITION INC		
ŀ		approved equal			AMERICA TEAM SPORTS	17.05	34.1
ŀ					MFAC LLC	24.00	48.0
49	Y	Gill #7 Individual Hip Numbers (250 roll) #92207 or	2	RL	*ASB SPORTS ACQUISITION INC		
-		approved equal			AMERICA TEAM SPORTS	17.05	34.1
					MFAC LLC	24.00	48.0
50	Y	Gill #8 Indivudual Hip Numbers (250 roll) #92208 or	2	RL	*ASB SPORTS ACQUISITION INC	24.00	40.0
		approved equal					
					AMERICA TEAM SPORTS	17.05	34.1
				D.	MFAC LLC	24.00	48.0
51	Y	Gill #9 Individual Hip Numbers (250 roll) #92209 or approved equal	‡92209 or 2 F	KL	*ASB SPORTS ACQUISITION INC		
					AMERICA TEAM SPORTS	17.05	34.1
					MFAC LLC	24.00	48.0
52	Y	Gill #10 Individual Hip Numbers (250 roll) #92210 or approved equal	1	EA	*ASB SPORTS ACQUISITION INC		
					AMERICA TEAM SPORTS	17.05	17.0
					MFAC LLC	24.00	24.0
53	Y	Gill #11 Individual Hip Numbers (250 roll) #92211 or approved equal	2	RL	*ASB SPORTS ACQUISITION INC		
		арриотеа едаа.			AMERICA TEAM SPORTS	17.05	34.1
ı					MFAC LLC	24.00	48.0
54	Y	Gill #12 Individual Hip Numbers (250 roll) #92212 or	2	RL	*ASB SPORTS ACQUISITION INC		
-		approved equal			AMERICA TEAM SPORTS	17.05	34.1
ŀ					MFAC LLC	24.00	48.0
55	Y	Gill #13 Individual Hip Numbers (250 roll) #92213 or	2	RL	*ASB SPORTS ACQUISITION INC		
		approved equal					
					AMERICA TEAM SPORTS	17.05	34.1
					MFAC LLC	24.00	48.0
56	Y	Gill #14 Individual Hip Numbers (250 roll) #92214	2	RL	*ASB SPORTS ACQUISITION INC		
-					AMERICA TEAM SPORTS	17.05	34.1
-					MFAC LLC	24.00	48.0
57	Y	Gill #15 Individual Hip Numbers (250 roll) #92215	2	RL	*ASB SPORTS ACQUISITION INC		
-					AMERICA TEAM SPORTS	17.05	34.1
					MFAC LLC	24.00	48.0

58	Y	Gill #16 Individual Hip Number (250 roll) #92216 or	2 RL	*ASB SPORTS ACQUISITION INC		
-		approved equal		AMERICA TEAM SPORTS	17.05	34.10
-				MFAC LLC	24.00	48.00
59	Y	Gill #17 Individual Hip Number (250 roll) #92217 or	2 RL	*ASB SPORTS ACQUISITION INC		
-		approved equal		AMERICA TEAM CROPES	47.05	2440
-				AMERICA TEAM SPORTS	17.05	34.10
			2 81	MFAC LLC	24.00	48.00
60	Y	Gill #18 Individual Hip Numbers (250 roll) #92218 or approve equal	2 RL	*ASB SPORTS ACQUISITION INC		
				AMERICA TEAM SPORTS	17.05	34.10
				MFAC LLC	24.00	48.00
61	Y	#7035-250 Hip Numbers 1 - 8, or approved equal	1 ST	MFAC LLC	92.00	92.00
62	Y	Accusplit 50 Memory Stopwatch #AX740PRO, or	5 EA	PYRAMID SCHOOL PRODUCTS	25.89	129.45
				AMERICA TEAM SPORTS	27.00	135.00
				MFAC LLC	36.00	180.00
				*ASB SPORTS ACQUISITION INC		
63	Y	AX725 Accusplit Stopwatch (pack of 6), or approved	1 PK	*ASB SPORTS ACQUISITION INC		
				MFAC LLC	26.00	26.00
				PYRAMID SCHOOL PRODUCTS	101.25	101.25
				AMERICA TEAM SPORTS	120.00	120.00
ŀ				VARSITY BRANDS HOLDINGS CO INC	122.76	122.76
64	Y	#AX602 Accusplit Stopwatch, or approved equal	1 EA	*ASB SPORTS ACQUISITION INC		
ŀ				PYRAMID SCHOOL PRODUCTS	28.95	28.95
				AMERICA TEAM SPORTS	36.00	36.00
65	Y	Gill Powermax Mini Bands, medium #TA1741M (10 bands set), or approved equal	2 ST	RIDDELL ALL AMERICAN	52.50	105.00
F		ballus set), or approved equal		VARSITY BRANDS HOLDINGS CO INC	52.98	105.96
-				*ASB SPORTS ACQUISITION INC		
-		_		MFAC LLC	62.00	124.00
-				AMERICA TEAM SPORTS	73.50	147.00
66	Y	Gill Powermax Mini Bands, heavy #TA1741H (10 bands	2 ST	VARSITY BRANDS HOLDINGS CO INC	54.98	109.96
H		set), or approved equal		RIDDELL ALL AMERICAN	55.00	110.00
H		_		*ASB SPORTS ACQUISITION INC		
-		_		MFAC LLC	64.00	128.00
-		_		AMERICA TEAM SPORTS	73.50	147.00
67	Y	Blank Spikes #G848 (100 bag), or approved equal	3 EA	*ASB SPORTS ACQUISITION INC		
-			1	VARSITY BRANDS HOLDINGS CO INC	11.98	35.94
H		_		RIDDELL ALL AMERICAN	12.50	37.50
-		_		MFAC LLC	29.00	87.00
68	Y	Economy 100' Tape Measure, closed reel #7011-100, or	4 EA	*ASB SPORTS ACQUISITION INC		
-				PYRAMID SCHOOL PRODUCTS	8.85	35.40
H		_		VARSITY BRANDS HOLDINGS CO INC	8.98	35.92
H		_		MFAC LLC	21.00	84.00
69	Y	Economy 165' Tape Measure, closed reel #7011-165 or	2 EA	VARSITY BRANDS HOLDINGS CO INC	10.96	21.92
-				*ASB SPORTS ACQUISITION INC	10.50	
H		_		PYRAMID SCHOOL PRODUCTS	12.95	25.90
-				MFAC LLC	26.00	52.00
70	Y	Rolatape Enduro Measuring Wheel #7002, or approved	1 EA	VARSITY BRANDS HOLDINGS CO INC	124.98	124.98
,,,		' approved		MFAC LLC	125.00	125.00
-				RIDDELL ALL AMERICAN	203.75	203.75
-				*ASB SPORTS ACQUISITION INC	203.73	203.73
71	Y	Magic Measuring Stick #7014-100, or approved equal	1 EA	*ASB SPORTS ACQUISITION INC		
		abic incasaring stick #7014 100, or approved equal	1 LA	ASS SI SINIS ACQUISITION INC		

72	Υ	Fox 40 Classic CMG Whistles, no subs	5 EA	*ASB SPORTS ACQUISITION INC		
				VARSITY BRANDS HOLDINGS CO INC	4.26	21.30
		_		AMERICA TEAM SPORTS	8.00	40.00
73	Υ	Long/Triple Jump 36" Rake #7027-36, or approved equal	2 EA	VARSITY BRANDS HOLDINGS CO INC	44.97	89.94
				MFAC LLC	74.00	148.00
l				*ASB SPORTS ACQUISITION INC		
				RIDDELL ALL AMERICAN	92.50	185.00
74	Υ	Indoor Starting Blocks #P070, or approved equal	1 EA	*ASB SPORTS ACQUISITION INC		
				VARSITY BRANDS HOLDINGS CO INC	41.98	41.98
İ				MFAC LLC	53.00	53.00
75	Υ	First Place Starting Blocks #6632-01, or approved equal	3 EA	VARSITY BRANDS HOLDINGS CO INC	69.98	209.94
İ				PYRAMID SCHOOL PRODUCTS	89.98	269.94
İ				MFAC LLC	105.00	315.00
İ				*ASB SPORTS ACQUISITION INC		
76	Υ	First Place High School Hurdle #36660-00, or approved	5 EA	*ASB SPORTS ACQUISITION INC		
İ				VARSITY BRANDS HOLDINGS CO INC	259.98	1,299.90
İ				MFAC LLC	274.00	1,370.00
77	Υ	Resitance Trainer with harness #3622-01, or approved	5 EA	VARSITY BRANDS HOLDINGS CO INC	24.98	124.90
				PYRAMID SCHOOL PRODUCTS	28.98	144.90
				MFAC LLC	53.00	265.00
				*ASB SPORTS ACQUISITION INC		
78	Υ	#3622-02 Resistance Trainer with Waist Belt, or	5 EA	PYRAMID SCHOOL PRODUCTS	19.89	99.45
				MFAC LLC	44.00	220.00
79	Y	Alfa .32 Cal. Starting Pistol #6642-32, or approved equal	1 EA	MFAC LLC	315.00	315.00
				*ASB SPORTS ACQUISITION INC		
80	Υ	Starter Pistol Cleaning Kit #6648-04, no subs	2 EA	MFAC LLC	36.00	72.00
81	Y	Everything Track & Field Starter's Hearing Protector	1 EA	MFAC LLC	36.00	36.00
-		#6648-03, or approved equal		*ASB SPORTS ACQUISITION INC		
82	Y	Everything Track & Field Girls/Womens Team Deal	2 PK	*ASB SPORTS ACQUISITION INC		
	<u> </u>	Throwing Package - includes 1kg rubber discus, 1kg First	ZIFK	nos si sins negolanien ine		
				MFAC LLC	399.00	798.00
83	Υ	Everything Track & Field High Spin Discus 1.0 #6006-1.0, or approved equal	1 EA	MFAC LLC	170.00	170.00
ŀ		or approved equal		*ASB SPORTS ACQUISITION INC		
ŀ				VARSITY BRANDS HOLDINGS CO INC	199.91	199.91
84	Υ	Everything Track & Field Turned Steel Shot Put 4.0	1 EA	MFAC LLC	102.00	102.00
		#6033-4.0-109, or approved equal				
				*ASB SPORTS ACQUISITION INC		
85	Y	Everything Track & Field Smart Hurdles #3417-04, or approved equal	4 EA	MFAC LLC	58.00	232.00
86	Υ	Everything Track & Field Tiger Tail #2216-22, or	4 EA	VARSITY BRANDS HOLDINGS CO INC	31.98	127.92
ŀ		<u> </u>		MFAC LLC	35.00	140.00
ŀ				*ASB SPORTS ACQUISITION INC		
87	Υ	Everything Track & Field Elastic Foam High Jump	1 EA	VARSITY BRANDS HOLDINGS CO INC	15.24	15.24
		Crossbar #5883-01, or approved equal		****		
				*ASB SPORTS ACQUISITION INC	22.00	22.00
20	V	5 41: 7 1.05:110 1 0 42422.01	10 51	MFAC LLC	23.00	23.00
88	Y	Everything Track & Field Power Jump Ropes #3423-01, foam cushioned handles with ball bearing like action, 9'6" rope adjustable for all sizes, durable, or approved equal	40 EA	MFAC LLC	17.00	680.00
89	Υ	First Place Sled Dawg 2 #3602, or approved equal	3 EA	*ASB SPORTS ACQUISITION INC		
				MFAC LLC	190.00	570.00
90	Y	First Place Banana Step #3414-06, or approved equal	2 EA	PYRAMID SCHOOL PRODUCTS	6.99	13.98
				MFAC LLC	14.00	28.00
				*ASB SPORTS ACQUISITION INC		

91	Y		First Place Universal Hurdle Dolly #6605-01, or	1	EA	*ASB SPORTS ACQUISITION INC		
			1			MFAC LLC	710.00	710.00
						VARSITY BRANDS HOLDINGS CO INC	879.91	879.91
92	Y		Gill Stretchrite #TA1780, or approved equal	5	EA	VARSITY BRANDS HOLDINGS CO INC	34.98	174.90
						*ASB SPORTS ACQUISITION INC		
						RIDDELL ALL AMERICAN	35.00	
			-			MFAC LLC	43.00	215.00
			-			AMERICA TEAM SPORTS	48.00	240.00
93	Υ		Gill 12lb. Brass Shot Put, or approved equal	2	EA EA	*ASB SPORTS ACQUISITION INC		
			-			VARSITY BRANDS HOLDINGS CO INC	192.98	385.96
			-			MFAC LLC	201.00	402.00
			-			AMERICA TEAM SPORTS	250.00	500.00
94	Υ		Gill Utility Wagon #937, or approved equal	1	EA	*ASB SPORTS ACQUISITION INC		
			-			MFAC LLC	395.00	395.00
			-			VARSITY BRANDS HOLDINGS CO INC	499.91	499.91
			-			AMERICA TEAM SPORTS	500.00	500.00
95	Υ		Gill Transporter Starter Block Cart #9311, 6 starting	1	EA	*ASB SPORTS ACQUISITION INC		
			block capacity, or approved equal					
						MFAC LLC	699.00	699.00
						VARSITY BRANDS HOLDINGS CO INC	699.91	699.91
						RIDDELL ALL AMERICAN	798.75	798.75
						AMERICA TEAM SPORTS	850.00	850.00
96	Y		Gill 1.0k Women's & Junior OTE HM Discus, or approved	1	ST	*ASB SPORTS ACQUISITION INC		
			equal			MFAC LLC	170.00	170.00
97	Y		VS Athletic 6" Mini Hurdles #2577-6, or approved equal	12	EA	PYRAMID SCHOOL PRODUCTS	6.99	83.88
3,							0.55	00.00
						*ASB SPORTS ACQUISITION INC		
						MFAC LLC	14.00	168.00
98	Y		VS Atheltic 12" Mini Hurdles #2577-12, or approved equal	1	EA	PYRAMID SCHOOL PRODUCTS	7.99	7.99
						*ASB SPORTS ACQUISITION INC		
			-			MFAC LLC	15.00	15.00
99	Υ		VS Athletic 18" Mini Hurdles #2577-18, or approved	1	EA	PYRAMID SCHOOL PRODUCTS	10.99	10.99
			equal					
						MFAC LLC	17.00	17.00
100	Y		Champro A822 Resistance Chute, small, or approved	3	EA	*ASB SPORTS ACQUISITION INC		
			equal			RIDDELL ALL AMERICAN	14.60	43.80
			-			AMERICA TEAM SPORTS	15.95	47.85
			-			PYRAMID SCHOOL PRODUCTS	16.89	50.67
			-			MFAC LLC	80.00	240.00
101	Y		Champro Resistance Chutes #A823, medium, or	3	EA	*ASB SPORTS ACQUISITION INC	00.00	2 10100
101			approved equal	J		ASD STORES ACQUISITION INC		
						RIDDELL ALL AMERICAN	15.37	46.11
						AMERICA TEAM SPORTS	15.95	47.85
						PYRAMID SCHOOL PRODUCTS	18.68	56.04
						MFAC LLC	84.00	252.00
102	Y		Gill Smart Hurdles #TA18545, 27"-42", or approved	11	EA	*ASB SPORTS ACQUISITION INC		
			equal			RIDDELL ALL AMERICAN	118.75	1,306.25
			_			MFAC LLC	128.00	1,408.00
						AMERICA TEAM SPORTS	150.00	1,650.00
103	Y		Tape Measure 200' #A175, or approved equal	2	EA	*ASB SPORTS ACQUISITION INC		_,
103			- Spp. oved equal	2			40.14	20.00
						VARSITY BRANDS HOLDINGS CO INC	13.41	26.82
						PYRAMID SCHOOL PRODUCTS	15.95	31.90
						MFAC LLC	46.00	92.00

104	Y	First Place Economy Plyo Boxes #3403-99, or approved equal	1 EA	*ASB SPORTS ACQUISITION INC		
ŀ		equal		VARSITY BRANDS HOLDINGS CO INC	559.91	559.9
				MFAC LLC	685.00	685.0
105	Y	1.0 First Place Rubber Discus with strap #6025-1.0, or approved equal	2 EA	MFAC LLC	23.00	46.0
				*ASB SPORTS ACQUISITION INC		
				VARSITY BRANDS HOLDINGS CO INC	34.66	69.3
106	Y	1.6 First Place Rubber Discus with strap #6025-1.6, or approved equal	1 EA	MFAC LLC	25.00	25.0
-				*ASB SPORTS ACQUISITION INC		
H		_		VARSITY BRANDS HOLDINGS CO INC	38.28	38.2
107	Y	Ultrak SP-70 Electronic Starter Pistol #6647-01, no subs	1 EA	AMERICA TEAM SPORTS	180.00	180.0
H		_		*ASB SPORTS ACQUISITION INC		
H		_		MFAC LLC	265.00	265.0
108	Υ	Robic SC-717 100 Dual Memory Stopwatch, or approved	5 EA	PYRAMID SCHOOL PRODUCTS	25.98	129.9
-		equal		*ASB SPORTS ACQUISITION INC		
H		_		AMERICA TEAM SPORTS	30.00	150.0
H		_		MFAC LLC	41.00	205.0
110	Υ	Power Max Versa Hurdle #100, or approved equal	10 EA	MFAC LLC	42.00	420.0
-				*ASB SPORTS ACQUISITION INC		
111	Y	Multi-Height-Floy-Huydles (set of 4) #1202076	2 ST	AMERICA TEAM SPORTS	75.00 38.92	750.0 77.8
111		Multi-Height Flex Hurdles (set of 4) #1202076, or approved equal	2 31	VARSITY BRANDS HOLDINGS CO INC		
<u> </u>		_		PYRAMID SCHOOL PRODUCTS	49.99	99.9
110	12 Y			*ASB SPORTS ACQUISITION INC		
112	Y	The Stick 17" travel size #GTA1831, or approved equal	6 EA	AMERICA TEAM SPORTS	70.00	420.0
113	Y	Power Max Versa Hurdle Bag #101, or approved equal	1 EA	*ASB SPORTS ACQUISITION INC		
				AMERICA TEAM SPORTS	39.50	39.5
114	Υ	First Place Blue 1K Discus #6008, no subs	3 EA	MFAC LLC	59.00	177.0
115	Y	Gill Long Jump/HIgh Jump Pit #730147V, grey vinyl, no subs	1 EA	*ASB SPORTS ACQUISITION INC		
-		_		VARSITY BRANDS HOLDINGS CO INC	1,499.98	1,499.9
ŀ				MFAC LLC	1,590.00	1,590.0
116	Υ	Gill Agility Poles #TA1850, or approved equal	5 EA	*ASB SPORTS ACQUISITION INC		
r				VARSITY BRANDS HOLDINGS CO INC	125.98	629.9
				MFAC LLC	150.00	750.0
				AMERICA TEAM SPORTS	185.00	925.0
117	Y	First Place Premier Implement Cart #6083-01, or	1 EA	*ASB SPORTS ACQUISITION INC		
				MFAC LLC	895.00	895.0
118	Y	Gill VP400 Scholastic II High Jump Landing System Value Pack, includes 1 - #64211 Scholastic Landing System, 1 - #6421102 Weather Cover - royal blue, 1 pair #7040 Scholastic HJ Standards, 1 - #522 Essential HJ Cross Bar, no subs	1 KT	MFAC LLC	9,995.00	9,995.0
				*ASB SPORTS ACQUISITION INC		
119	Y	Gill Stretchrite #TA1780, or approved equal	4 EA	VARSITY BRANDS HOLDINGS CO INC	34.98	139.9
				*ASB SPORTS ACQUISITION INC		
				MFAC LLC	43.00	172.0
				AMERICA TEAM SPORTS	45.00	180.0
120	Y	First Place Stainless Steel Shot Put #6034-4.0-95, or approved equal	2 EA	MFAC LLC	127.00	254.0
		app. ovcu equal		*ASB SPORTS ACQUISITION INC		

121	Y	First Place Ply Shot Put Toe Board #7219-02, no subs	1	EA	*ASB SPORTS ACQUISITION INC		
}		_			MFAC LLC	449.00	449.00
122	Y	First Place Replacement Take-off Board #7238-25, no subs	1	EA	MFAC LLC	139.00	139.00
124	Y	Everything Track & Field Megaphone #7045-01, or approved equal	3	EA	PYRAMID SCHOOL PRODUCTS	79.95	239.85
					*ASB SPORTS ACQUISITION INC		
					MFAC LLC	96.00	288.00
126	Y	Everything Track & Field Overspeed Resitance Bands #3636-01, or approved equal	5	EA	MFAC LLC	180.00	900.00
127	Y	First Place Custom Tent Package (includes frame, stake kit, carry bag, side wall carry bag, top & 3 sidewalls 2-10' & 1-15' with logo, no subs	1	KT	MFAC LLC	2,195.00	2,195.00
128	Υ	12 lb Iron Shot Put	2	EA	VARSITY BRANDS HOLDINGS CO INC	20.98	41.96
					*ASB SPORTS ACQUISITION INC		
					MFAC LLC	35.00	70.00
					AMERICA TEAM SPORTS	40.00	80.00
129	Υ	6' H Ultra Fit Training Hurdle	1	EA	MFAC LLC	14.00	14.00
130	Y	#TA111 Gill Powermax Rubber Medicine Ball, no subs	2	EA	*ASB SPORTS ACQUISITION INC		
					RIDDELL ALL AMERICAN	70.00	140.00
					VARSITY BRANDS HOLDINGS CO INC	74.98	149.96
					MFAC LLC	78.00	156.00
					AMERICA TEAM SPORTS	89.50	179.00
131	Y	#TA112 Gill Powermax Rubber Medicine Ball, no subs	2 E	EA	* ASB SPORTS ACQUISITION INC		
					RIDDELL ALL AMERICAN	75.00	150.00
					VARSITY BRANDS HOLDINGS CO INC	79.98	159.96
					MFAC LLC	83.00	166.00
					AMERICA TEAM SPORTS	94.50	189.00
132	Y	#TA131 Gill Powermax Rubber Medicine Ball, no subs	1	EA	RIDDELL ALL AMERICAN	92.50	92.50
					*ASB SPORTS ACQUISITION INC		
					VARSITY BRANDS HOLDINGS CO INC	98.98	98.98
					MFAC LLC	100.00	100.00
					AMERICA TEAM SPORTS	120.00	120.00
133	Y	Gill Medicine Double Sided Ball Rack #Ta1292, holds 10 balls, 63"x22.5"x9", 27 lbs., no subs	1	EA	RIDDELL ALL AMERICAN	193.75	193.75
					*ASB SPORTS ACQUISITION INC		
					VARSITY BRANDS HOLDINGS CO INC	224.98	224.98
					MFAC LLC	235.00	235.00
					AMERICA TEAM SPORTS	265.00	265.00
134	Y	Everything Track & Field Discus Trainer #6078-2.0, no sube		EA	MFAC LLC	70.00	70.00
135	Y	Nelco Lo Spin Discus 1.6K #6096-1.6, or approved equal	1	EA	*ASB SPORTS ACQUISITION INC		
					MFAC LLC	123.00	123.00
136	Y	Body Loop Bands #1301762-22"	8	EA	VARSITY BRANDS HOLDINGS CO INC	1.96	15.68
137	Υ	22" Body Loop Bands #1301779-22"	8	EA	VARSITY BRANDS HOLDINGS CO INC	2.28	18.24

Rows 1 - 407 (All Rows)